=
S
=
S

a(d cot(B))

o(® ¢ (rad)

=
S
N

1 I A A 1 R A T T
T RN LN
-+ iRy .

5 B + +

+

¥

2 3
TP1F(>)T (PCA t%obeamlinélf) 1

— _origmal_originalvector_. evi
— M_original_1000evt

QM_fitted4_T000evt
OQM_fit_nocpe_1000evt

=~ —~
1S 1S L
o ©
= =
—~ —~
> UN SRR R AR
o O
9 =
5] o]

107

102

R TN : 2

= 1f 1 =

R LA -5 o
3 TI 4 3
1 Fo THH H = i LT
. : - 0.9 : =

-1 2 3
10 1 TP]'[S)T (PCA 1 beamlindf’

n
*

3 .
I, T AT AR R R L
T

1073 7

10

‘(_B, E k3 E
X 1.05F- 14+ E 1 1 U S
F I Bk .
PTG JURUL 10000 SUNAE | U R
0.95E

H
S
L

Il T&I%T (PCA %‘g 2beamliné)03



	Contents
	Page 1


